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If »=3%h®—7r%, then the ratio r : h
isa:2,a="?
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If ¥° X 9% = 2592, find x.

2

L)

The pie chart shows how a boy spends
the 24 hours of a day. If the boy spends
4 hours on playing, how much time does
he spend on watching television?
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In the figure, ABC, ACD, ADE and AEF
are right-angled isosceles triangles.
If AB=BC=1,AF="?

F A 1 B
1

C

4

+A

4 +5+6"+7" +9"+ 11" =127,
find x.
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A circle with centre O touches the sector
ABCinternally at D, E and F. £ C = 60°
and AC = 18. Find the radius of the circle.
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If 2x = 3y = 4z, then
xty—z _k k=9
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Find the maximum value of
2sin’d — 4cos 6 + 4.

Find the real part of (3 —#)(2 + i)(1 — 2i).
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Find the maximum value of K
ifFK=1+n+n+n'+ ..,
for 0.10 = n = 0.90.
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If fix) = x> — 2x + p is divisible by
(x + 1), find the remainder of f{xx) when
it is divided by (x + 3).
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How many ways are there to go from 4
to B in the figure such that one can only
go forward at each junction?
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Find the value of n if
28 ¢cos 6 — 142" =y,
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A and B are squares with centres C and
D, respectively. In Figure (a), the shaded
area is % of the area of A. In Figure (b),

the shaded area is 9 of the area of B.
. X
Find x.
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If 123456789 x M + N = 987654321
where M, N are one digit numbers, find
M+ N.
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Find the product of roots of
X —8x’+2lx—18=0.

In the figure there are 3 squares and the
line through C bisects the 3 squares into
2 portions of equal area. Find y.
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Given 133" + 110" + 84" + 27" = 144",
find 4n.
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Given I’ +2° + ... + 6' =7, find y.
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The diagram shows a right prism with
a right-angled triangle BCE. Find the
angle between line BF and the plane
ABCD, correct to the nearest degree.
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A tetrahedron is formed by folding along

the dotted lines in the figure. If its height

is % where 4 and B are positive integers,

find the minimum value of 4 + B.
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Given a sequence 6, k, 60, 120, 210 ...,
find k.
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Given 20 < R < 30, find R for
R’ =11 881 376 without using calculators.
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Given a sequence 0, 2, 5, 9, 14, 20, n,
find 7.
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Given I’ +2°+ ...+ 7°= R’ find R.
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Given a sequence 8, 11, 17, n, 53, 101,
find n.
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Given cos™' {sin [cos ™' (sin30°)]} = p°,
find p.
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The day before yesterday I was 25 years
old and on a day of the next year I will
be 28 years old. Which day was I born?
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#2258 (Probability)
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